- I Write the number which has

(a) 5 units (b) 7 tens (c) 9 hundreds
(d) 6 thousands (e) 0 units (f) 2 hundreds
(g9) O tens (h) | thousand (i) | hundred.

2 Write the number with
(a) thousands digit 3 and hundreds dg’git I
(b) hundreds digit 5 and units digit 7
(c) thousands digit 3 and tens digit |
(d) hundreds and tens digits 0.

* The thousands digit is 8, which is two

more than the hundreds digit.
* The units digit is one less than the tens digit.
* The hundreds digit is double the units digit.




